mclaurin.wxm
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f:log(1+x);
fO:subst(x=0,f);
d1:subst(x=0,diff(f,x));

log(x+1)
0
1

pl:fO+d1l-(x—0);
X

wxplot2d([f,p1], [x,—0.1,0.1],[y,—0.11,0.11])%

T
01 log(x+1)

X

0.1

vr:float(subst(x=-0.1,f));
hr:float(subst(x=0.1,f));
—0.1053605156578262
0.09531017980432494

d2:subst(x=0,diff(f,x,2));
p2:f0+d1-(x—=0)+(1/2)-d2-(x—=0)"2;
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wxplot2d([f,p2], [x,—0.1,0.1],[y,—0.11,0.11])$

01

T
log(x+1)
x-x2/2

0.1

wxplot2d([f,p2], [x,0.0945,0.1],[y,0.09,0.11)$

0.1

0.098

T
log(x+1)
x-x%2 ——

float(subst(x=0.1,p2));
float(subst(x=—0.1,p2));

0.095
—0.105
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